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GENERAL STUDIES

Paper 1
. Time : 3 Hours ] ' [ Maximum Marks : 300
e ———— — — — —
INSTRUCTIONS '

Each question is printed both in English and in Kannada.

Answers must be written in the medium specified
(English or Kannada) in the Admission Ticket issued to
you, which must be stated clearl}z on the cover of the
answer book in the space provided for this purpose. No
credit will be given for the answers written in a medium
other than that specified in the Admission Ticket.

Candidates should attempt questions from all Sections.

The number of marks carried by each question 1s indicated
at the end of the question.

The length of the answers should not, as far as possible,
exceed the specification given at the end of each question.
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SECTION A

Discuss the part played by Tilak in the Indian National Mmemcm
tAbout 250 words)

35
OR
Describe the circumstarces responsible for the rise of the extremists
and the revolutionary movement in Indian politics in the early years of
the 20th century. Highlight the role of the revolutionaries of
Karnataka.
Write short notes on any fwe of the following : (About 150 words cach)
15 2230
tay Dr SV. Parameshwara Bhat, popularly known as ‘“Kannada
Kaiidasa”
(b)  Benjamin Lewis Rice and the Karnataka education system
{¢cy The main features of Dravida style of temple architecture
Write short notes on any three of the following : (About 75 words cach)
H)x 3=30
tal  The achievement of the Mysore Ruler in the 18th century who
planted “The Tree of Liberty” at his capital and enrolled himself as
a member of the Jacobian Club of France.
tb)  The famous Hoysaleshwara temple and the Chalukyan style of
temple architecture,
(¢c)  The folk dances of Karnataka.
idy  The Somnath temple.
What do you know about the following 7 (About 20 wards each) Dx15=30)

tar (1) Al Akbar Khan
(11) Bismillah Khan
(iin] Dagar brothers
t{1v) Bhimsen Joshi

(v} Shyama Shastn
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SECTION B

‘The age of coalition governments has arrived in India. This, however, is
a passing phase in our country as it matures in its democratic traditions.’

Comment on the above statement and give your assessment of the
phenomenon and its repercussions on the growth and governance of the

country. (About 250 words) 35

OR
The nuclear tests by India and Pakistan have generated a totally new
environment in the sub-continent. What are the implications of this in
terms of India’s future relations with its neighbours in particular, and
other world powers and international organisations in general ?

(About 250 words)

Describe any three of the following : (About 75 words each) 10x 3=30
(a) Cauvery water dispute
thy  Mysore Palace take-over by Government
() dJohn Glenn's recent adventure
td)  The great disappointment caused by Leonid meteor shower
te)  Exereise Shiv Shakti and its repercussions
(f+  The Cubbon Park controversy
Write notes on any six of the following : fAbout 50 words each) 5x 6=30

ta) Puthina

(h)  Pete Sampras
fei Sheila Dixit
td}  Veerappan

{er  Bill Gates
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Briéﬂy explain any six of the following : (About 50 words each)

(a)
(b}
(c)
(d)
(e)
(f)

{g)
(h)
(1)

Ay

(8}

Girish Kasaravalli
Rajat Sharma
General V.P. Malik
Monica Lewinsky
Mahesh Bhupathi
Amartya Sen

Jdyothirmoy Sikdar

Use of cellular phones in India
Internet and E-mail

Pentium Processor

INSAT series of satellites

The Matiz car

The inter-nation space station
Globhal warming

Web site

Modem

Terminator gene

O 6=30
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SECTION C

9. Three tests were conducted for five students during the year. The class
teacher calculated the averages of the marks obtained and showed them
to the Principal as assessment of performance. The marks were as
under :

| Student Test |  Test I Test III  Average !_

A 55 60 | 65 60
B 65 60 55 60
C 0 40 70 50
D g0 - 40 30 50
E 55 56 55 55

The teacher told the Principal that A was GOOD, B was GOOD, C was
POOR, D was POOR and E was FAIR.

Give your assessment in your own words deseribing the performance of
each student and your recommendation to the Principal. 12

10. (a) Offer your views on the possible reasons for the difference in
patterns of behaviour of the SENSEX and the price of the shares
as reflected in the chart below : 8

e e o
SENSEX 2876 2017 2989 2058 3365 3570 3366 2063 2888
'PRICE OF. | |

. : . : :
;SHAREA 191 197 205 | 230 235 240 234 200 192

iPRKHBOF ' : -
‘ ' : 60 i
LSPL%REJB 150 150 157 155 149 147 150 1 167
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A 55 |' 60 65 | 60
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| C 40 | 40 ‘ 70 50
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e : S P AR — = =
A ReoR B3 | 191 | 197 | | 205 230 | 235 2 240 | 234 | 200 192 |
B oy 8 | 150 | 150 | 157 149 147 | 150 160 167

{Turn over




CC {12}

(b) Marks obtained by students in Mathematics arc given below in
terms of marks and frequency :

| Marks Obtained | ___ Frequency
i 30-35 , 5
35 —40 10
40 - 45 | 15
| 45 - 50 i 30
50 - 55 | 5
| .B5-60 . 5
Complete the “More than” table given below : 4
7 Marks Obtained ' No.of Students

| More than 30 (including 30) |
' More than 35 (including 35)

_ More than 40 (including 40) .
More than 50 (including 50,

__ More than 60 (including 60) . |
11. (a) Explain any three of the following : (About 20 words each) 2% 3=6

(i) Population Density
(1) G.N.P.

(i1i) Census

(iv} Wholesale Price Index
iv} Forecast of monsoons

(bh) Sachin Tendulkar scored 118 in one of the matches played at
Sharjah. The diagram shown below was flashed on the T.V. screen :

10

5 T = Tendulkar

T B = Bawler
40

[

B

What initial conjectures can be made on the above figures ? What .
additional data would you like to have to form firmer opinicns ? 7
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Make a frequency table of the number of words with different
numbers of letters in the sentences given helow :

THE POKHARAN NUCLEAR EXPLOSIONS HAD A
TREMENDOUS EFFECT ON THE NATIONAL ECONOMY. A
NUMBER OF SANCTIONS IMPOSED BY AMERICA DID

LEAD TO A NUMBER OF PROBLEMS. $

The number of people who have climbed Mount Everest as a
cumulative figure each year after 1953 (Prior to this, the
cumulative total was zero as none had climbed the Everest.)
has shown a pattern as shown in the graph below :

Number
of People

i L Il 1
T T T T

1950 60 70 80 90

A famous doctor has attributed this to the overall fitness of
youth all over the world after the year 1953. Offer your views
on the verdict of the doctor and your views on the graphical
trend noted above.

Find the total number of arrangements of the letters of the
word ALLAHABAD.

In a single throw of a uniform dice, find the probability of
getting a sum of 5.

Two carde arc drawn from a pack of cards. What is the
probability that both are black ?

There are five women and five men. What is the total number

of ways in which marriages can take place between them ?

6
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THE POKHARAN NUCLEAR EXPLOSIONS IIAD A
TREMENDQUS EFFECT ON THE NATIONAL ECONOMY. A
NUMBER OF SANCTIONS IMPOSED BY AMERICA DID
LEAD TO A NUMBER OF PROBLEMS.
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